Broadcasting standards poll of teenagers and young adults   Worksheet 1
1. State 2 potential non-sampling errors present in this poll
Potential hidden agenda: Commissioned by Family First- a lobby group promoting family values (A survey concern rather than a non-sampling error)
A very high non-response bias (6000 class to get 600 responses), 
question concerns: 
· 3 different aspects together in one question (probably designed to make people more likely to agree with the statement as those agreeing with part of it may respond positively.- Should be split into 3 separate questions.
· Unclear whether shades of agreement on a likert scale from strongly agree through to strongly disagree were initially allowed –If not, this may have producd different results.

51% of respondents agreed that there is too much sex, violence and bad language on television.
2. (a) Calculate a 95% confidence interval for the % of young people who agreed.
MoE	= = 4.1%					Poll% =51%
51%
46.9%
55.1%

95% CI: 

(b) Write a sentence explaining the meaning of this confidence interval.
With 95% confidence, we can infer that the percentage of young people who agree that there is toomuch sex, bad language and violence on TV is somewhere between 46.9% and 55.1%
3. Can it be claimed that young people were more likely to agree than disagree?

SEE SAMPLING ERROR POWER-POINT SLIDE 8 for answers





Broadcasting standards poll of teenagers and young adults   Worksheet 2
1. Test the claim that “young women were far more likely than young men to agree”
SEE SAMPLING ERROR POWER-POINT SLIDE 11 for answers
2. Test the claim that “young people who live in rural areas are more likely to agree than those who live in the metropolitan areas (Auckland, Wellington and Christchurch).”
MoE rural		=8.3%			MoE metro =5.7%

Average MoE= (8.3 + 5.7) ÷2 = 7%

Margin of error for difference= 1.5 × Average MoE = 1.5 ×7 = 10.5%

Perc. pt. difference = 55 – 50 = 5 percentage points
5 p. pts
-5.5 p. pts
15.5 p.pts

95% CI for difference;    

Meaning in words: 
The % of Young people in rural areas who agreed could be up to 5.5 percentage points less than the % of young people in metropolitan areas and up to 15.5 percentage points more. 
Judgement    The claim cannot be supported. It is possible that young people living in metropolitan areas are more likely to agree than those living in rural areas.
3. Test the claim that “young people aged 20 and over are more likely to agree than those aged 17 and under”.
MoE 20+		=8.5%			MoE ≤17    =6.3%
Average MoE= (8.5 + 6.3) ÷2 = 7.4%
Margin of error for difference= 1.5 × Average MoE = 1.5 ×7.4 = 11.1%
Perc. pt. difference = 55 – 49 = 6 percentage points6 p. pts
-5.1 p. pts
17.1 p pts

95% CI for difference;    
Meaning in words: 
The % of Young people in aged 20 and over who agreed could be up to 5.1 percentage points less than the % of young people aged 17 and under and up to 17.1 percentage points more.  Claim NOT supported

4. Challenge Question
Test the claim that “young people aged 20 and over are more likely to agree than those aged under 20”.
MoE 20+		=8.5%			MoE <20    =4.6%
Average MoE= (8.5 + 4.6) ÷2 = 6.5%
Margin of error for difference= 1.5 × Average MoE = 1.5 ×6.5 = 9.8%
Perc. pt. difference :
%agree aged 20+ = 55%         
 %agree aged <20 = (49% of 255 + 50% of 208) ÷ (125 + 104) = 49.5%
Difference = 55 – 49.5 = 5.5 perc. pt
5.5p pts
-4.3 p. pts
15.3 p. pts

95% CI for difference;    


Meaning in words: 
The % of Young people in aged 20 and over who agreed could be up to 4.3 percentage points less than the % of young people aged under 20 and up to 15.3 percentage points more.  
[bookmark: _GoBack]Claim NOT supported since it is possible that those aged over 20 may be less likely to agree.

